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B 43z E 4 OUT | IN | GR | HDCP | NET e

B &N & 37 37 | 1.5 355

#E | BR FEsh 44 | 44 | 8.5 |35.5

3 |l —%& 50 | 50 [14.5 |35.5

4 |BE —F 39 39 | 3.0 36.0

5 |HEF BEE 40 | 40 | 3.0 |37.0

6 BR EF 49 | 49 [12.0 |37.0

1 #E BB 43 43 | 5.0 |38.0

8 |KHE AR 43 43 | 4.5 138.5

9 SH —=% 53 | 53 [13.5 |39.5

10 |= =8 51 | 51 [10.5 |40.5

1|5 BE 46 46 | 5.0 |41.0

12 |BEAR EF 49 | 49 | 8.0 |41.0

13 B 4% 53 | 53 [12.0 |41.0

14 | L% ([RF 49 | 49 | 7.0 |42.0

15 luO &S 52 52 | 8.5 43.5

16 |f[R  FE 49 | 49 | 5.0 |44.0

17 % 1817 51 51 | 6.5 |44.5

18 |AF IEFT 59 | 59 [14.0 |45.0

19 |BRR &M 61 | 61 |11.5 49.5

20 lLE =E 57 | 57 | 5.5 |51.5
=t # 47 47 1-7"v5m
AR 1R 48 48 1-7"v&m
=t #E& 50 50 1-7"v5m
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